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O S&l 5,712
— ANSASEYR =& E2 A
7,000 178 45| 128 5,712
02 2324l 18,789 13,892 4,897
O =322 % XA 13,532
— EFMERES 50,000& x23| 100
HdIAMNES 80,0003 «2CH 12 1,920
— dIIABE 750,000 128 9,000
— &dotx=E MEEZ 70,000& 123 840
— AASAHEEARL QALY HEEEE
700,000& %13l 700
— Qe ME QIHY sld=  30,000+12E 360
— Tv=dlE 17,000+3CH =12 612
O AIEZEHI KX 5,257
— A=Al 751m 7 000& 5,257
202 odl 36,126 36,564 A 438
01 = LH o4 1l 36,126 36,564 A 438
O NsSXHsEYR =& 2UAl
20,0002 «18H 83| x 128 34,560
O &K A& I WESE I
261,000 x3H »23] 1,566
405 TtHabH S| 8,784 40,560 A31,776
01 et EFHSHI 8,784 40,560 A31,776
O 2MAEI 2 750, 000& = 1CH 750
O NSHSSHsHY HADLH 2
500,000 = 1CH 500
O dg3te ¢ 2 150, 0002 »2CH 300
O ARS MHIA AlAEN &XI 2,200,000& =14 2,200
O &= 7¢ 1,550,000& = 1CH 1,550
O s ZFxH & 2LH 2 3,484
— ZFH =H 1,400,000& »2CH 2,800
- 2Ud 342,000 »2CH 684
ClARAH(NEANLSESIN) 42,578 37,385 5,193
ol 2| 42,578 37,385 5,193
101 @124 dl 42,578 37,385 5,193
03 RIAHAZZ2E = 42,578 37,385 5,193
O SAE g2 22X 21,289
2s 39,6603 x1H 254 10,074
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2N AASUHSEARL

HH: HHSYAL(NSHESARL)

chol: ol gl (REAYSE )

SN BB (HA) - MM - BES 0l &t o il
— Jlz=g 10,074,000 x4/ 1228 3,358
- Fexdg 39,6603 »1H «52& 2,063
— =g 39,660 x 1«15 595
— I3 39,6603 2542 «1H x10% 1,008
— N9 2L
7,436 *1H +25A1 2tx 128 2,231
— =4l 80,000& «1H 128 960
— BESJH 200,000& 1 »23 400
— WSE=H 50,000 «1H « 122 600
O UHsSksSE HSE g2 22X 21,289
- JlZs 39,6603 1 254 10,074
— Jlz=g 10,074,000 x4/ 122 3,358
- Fexd 39,6603 1% «52& 2,063
— QX==E 39,6603 1H »152 595
— I3 39,6603 2542 «1H x10% 1,008
— A2 22
7,436 «1H «25A1 2t+122 2,231

— =4l 80,000 «1H 128 960
— SZES0H 200,000& 1 »23] 400
— WSE=H 50,000 «1H « 122 600




